212 CHS students example for mid-term II: multiple choice questions
1- [bookmark: _GoBack]Which of the following statements is an assumption for community organizing?
a. Communities of people cannot develop the capacity to deal with their own problems.
b. Change is not easy and impossible.
c. People should not participate in making, adjusting, or controlling the major changes taking place within their communities.
d. Changes in community living that are self-imposed or self-developed have a meaning and permanence that imposed changes do not have.

2- Locality development is a method for community organizing which:
a. Requires cooperative participation and action in the affairs of the community, and people must learn the skills that make this possible.
b. Seeks community change based on the concept of broad self-help participation from the local community.
c. People need help in organizing to deal with their needs, just as many individuals require help with individual problems.
d. None of the above.

